

Generalized Lie Superalgebras of Cartan Type *

Wang Yuandong

(Shandong Information Engineering School, Weifang 261041)

Zhang Yongzheng

(Dept. of Math., Northeast Normal University, Changchun 130024)

Abstract Let F be a field of characteristic $p \neq 2$. In this paper, we define the generalized Lie superalgebra over F and prove the criterion of simplicity of a \mathbb{Z} -graded generalized Lie superalgebra. We give the definition of the finite dimensional Cartan generalized Lie superalgebra $W(n)$ and prove the simplicity of $W(n)$. Finally, for Cartan generalized Lie superalgebras $S(n)$ and $H(n)$, we give the same result as for $W(n)$.

Keywords generalized Lie superalgebra, Grassmann algebra.

Classification AMS(1991) 17B05/CCL O152.5

1. Basic definitions and criterion of simplicity

Let F be a field of characteristic $p \neq 2$, s be an arbitrary positive integer. $\mathbb{Z}_2^s = \{\bar{0}, \bar{1}, \dots, \overline{2^s - 1}\}$ is the residue class ring mod 2^s , we write \mathbb{Z}_2^s as M . Let G be an algebra over F , G is called the generalized superalgebra over F if G can be decomposed into a direct sum of subspaces $G = \bigoplus_{a \in M} G_a$ and $G_a G_\beta \subset G_{-\{a + \beta\}}$, for any $a, \beta \in M$. Let x be a nonzero element of generalized superalgebra G , if $x \in G_a, a \in M$, we say the x is homogeneous of degree a and we write $\deg x = a$. If $a = \bar{n} \in M$, we write $(-1)^a = (-1)^n$. Throughout what follows, if $\deg x$ occurs in an expression, then it is assumed that x is homogeneous.

The subalgebra (or idea) of a generalized superalgebra is the graded subalgebra (or idea).

Let $G = \bigoplus_{a \in M} G_a$ be a generalized superalgebra, we define an operation \langle, \rangle in G :

$$\langle a, b \rangle = ab - (-1)^{(\deg a)(\deg b)}ba, \quad (1.1)$$

(As G is M -graded, we only define \langle, \rangle on homogeneous elements of G).

A generalized superalgebra G is called commutative if $\langle a, b \rangle = 0$ for all $a, b \in G$ and associative if $(ab)c = a(bc)$ for all $a, b, c \in G$. For an associative generalized superalgebra, we

* Received Jun. 2, 1993.

have the following identity:

$$\langle a, bc \rangle = \langle a, b \rangle c + (-1)^{(\deg a)(\deg b)} b \langle a, c \rangle \quad (1.2)$$

Let $V = \bigoplus_{a \in M} V_a$ be an M -graded space, then $\text{End} V = \bigoplus_{a \in M} \text{End}_a V$ is associative generalized superalgebra, where $\text{End} V = \{ \alpha \in \text{End} V \mid \alpha(V_\beta) \subset V_{\alpha+\beta}, \text{ for any } \beta \in M \}$.

Let $\Lambda(n)$ be the Grassmann algebra in n variables ξ_1, \dots, ξ_n , i. e., $\Lambda(n) = \{ a \xi_{i_1} \wedge \xi_{i_2} \wedge \dots \wedge \xi_{i_r} \mid a \in F, r \leq n, 0 \leq i_1 < i_2 < \dots < i_r \leq n \}$. Let $\deg(a \xi_{i_1} \wedge \xi_{i_2} \wedge \dots \wedge \xi_{i_r}) = \bar{r}$, where i_1, i_2, \dots, i_r are different from each other, then $\Lambda(n) = \bigoplus_{a \in M} \Lambda(n)_a$ is a generalized superalgebra (if $n < 2^s - 1$, then $\Lambda(n)_a = 0$, for $a = \overline{n+1}, \overline{n+2}, \dots, \overline{2^s-1}$). We call $\Lambda(n)$ the Grassmann generalized superalgebra, it is commutative and associative.

Definition 1 A generalized Lie superalgebra is a generalized superalgebra $G = \bigoplus_{a \in M} G_a$ with an operation \langle, \rangle satisfying the following axiom:

$$\langle a, b \rangle = -(-1)^{(\deg a)(\deg b)} \langle b, a \rangle \text{ (graded skew-symmetry),}$$

$$\langle a, \langle b, c \rangle \rangle = \langle \langle a, b \rangle, c \rangle + (-1)^{(\deg a)(\deg b)} \langle b, \langle a, c \rangle \rangle \text{ (graded Jacobi identity).}$$

If $G = \bigoplus_{a \in M} G_a$ is a generalized Lie superalgebra, then G_0 is an ordinary Lie algebra, the multiplication about \langle, \rangle on the left by elements of G_0 determines structure of a G_0 -module on $G_a, a \in M$.

Let $G = \bigoplus_{a \in M} G_a$ be an associative generalized superalgebra, then the operation (1.1) turns G into a generalized Lie superalgebra. In particular, the associative generalized superalgebra $\text{End} V$ is a generalized Lie superalgebra about the operation (1.1), we denote this as $\text{pl}(V)$.

Let $G = \bigoplus_{a \in M} G_a$ and $G' = \bigoplus_{a \in M} G'_a$ be two generalized Lie superalgebras. The linear mapping φ from G into G' is called a homomorphism if φ preserves the operation \langle, \rangle and $\varphi(G_a) \subset G'_a$. Similary, we have the definition of the isomorphism.

Let $G = \bigoplus_{a \in M} G_a$ be a generalized Lie superalgebra, $V = \bigoplus_{a \in M} V_a$ be an M -graded linear space. The homomorphism $\varphi: G \rightarrow \text{pl}(V)$ is called the graded representation of G on V , or the representation of G on V . In this case, we also say that V is a graded G -module, simply G -module. The G -module V (or the representation of G on V) is called irreducible if V contains no nontrivial submodules. The homomorphism $ad: G \rightarrow \text{pl}(G)$ is called the adjoint representation of G , where $ad x(y) = \langle x, y \rangle$ for all $x, y \in G$.

Let $G = \bigoplus_{a \in M} G_a$ be a generalized superalgebra. G is called Z -graded if there exists a family $\{G_i \mid i \in Z\}$ of finite-dimensional M -graded subspaces of G , such that $G = \bigoplus_{i \in Z} G_i$ and $G_i G_j \subset G_{i+j}$ for $i, j \in Z$. Above Z -grading is said to be consistent if $G_j = \bigoplus_{i \in Z} G_{2^i+j}, j = 0, 1, \dots, 2^s - 1$. Clearly, the Z -homogeneous element must be the homogeneous element if the Z -grading of G is consistent.

Let $G = \bigoplus_{i \in Z} G_i$ be a Z -graded generalized Lie superalgebra, the G_0 is a generalized Lie superalgebra, it is an M -graded subalgebra of G and $\langle G_0, G_1 \rangle \subset G_j, j \in Z$; therefore, the adjoint representation of G induces an M -graded representation of G_0 on $G_i (i \in Z)$.

A Z -graded generalized Lie superalgebra $G = \bigoplus_{i \in Z} G_i$ is called irreducible if the represen-

tation of G_0 on G_{-1} is irreducible.

A \mathbb{Z} -graded generalized Lie superalgebra $G = \bigoplus_{i \in \mathbb{Z}} G_i$ is called transitive if $\{x \in G_n \mid \langle x, G_{-1} \rangle = 0\} = 0$ for $n \geq 0$.

A generalized Lie superalgebra $G = \bigoplus_{a \in M} G_a$ is called simple if it contains no nontrivial ideals and $\langle G, G \rangle \neq 0$.

Theorem 1 Let $G = \bigoplus_{n=-1} G_n$ be a (not necessarily consistently) \mathbb{Z} -graded Lie superalgebra and $G_1 \neq \{0\}$, if G satisfies the following conditions:

- (1) G is transitive and irreducible;
- (2) $\langle G_n, G_1 \rangle = G_{n+1}$ for all $n \geq -1$.

Then the generalized Lie superalgebra G is simple.

Proof Let J be a graded idea of G , and $J \neq \{0\}$. Clearly, $J \cap G_{-1}$ is a G_0 -submodule of G_{-1} . For any $x \in J \cap G_{-1}$, we have $x \in J = \bigoplus_{a \in M} (J \cap G_a)$ and $x \in G_{-1} = \bigoplus_{a \in M} (G_{-1} \cap G_a)$, so we can assume $x = \sum_{a \in M} x_a$, where $x_a \in J \cap G_a$ and $x = \sum_{a \in M} g_a$, where $g_a \in G_{-1} \cap G_a$. Then $\sum_{a \in M} (x_a - g_a) = 0$ and $x_a = g_a$ for any $a \in M$. Therefore $J \cap G_{-1} = \bigoplus_{a \in M} (J \cap G_{-1}) \cap G_a$, i.e., $J \cap G_{-1}$ is an M -graded G_0 -submodule of G_{-1} . So $J \cap G_{-1} = \{0\}$ or $J \cap G_{-1} = G_{-1}$ by the irreducibility of G .

If $J \cap G_{-1} = \{0\}$, write $\bar{G}_i = \bigoplus_{j=-1}^i G_j$, then we have the smallest nonnegative integer n such that $J \cap \bar{G}_n \neq \{0\}$. Let $0 \neq x \in J \cap \bar{G}_n$, then $\langle x, G_{-1} \rangle \subset \bar{G}_{n-1}$ and $\langle x, G_{-1} \rangle \subset J$, so $\langle x, G_{-1} \rangle \subset \bar{G}_{n-1} \cap J = \{0\}$. Let $x = \sum_{i=0}^n x_i$, where $x_i \in G_i$ and $x_n \neq 0$, then $\sum_{i=0}^n \langle x_i, G_{-1} \rangle = \{0\}$ and $\langle x_i, G_{-1} \rangle = \{0\}$, $i = 0, 1, \dots, n$. This contradicts the transitivity of G . Therefore $J \cap G_{-1} = G_{-1}$ and $G_{-1} \subset J$. By the condition (2), we have $G_0 = \langle G_{-1}, G_1 \rangle \subset J$, $G_1 = \langle G_0, G_1 \rangle \subset J, \dots, G_n \subset J$ for all $n \geq 1$, so $G = J$. \square

2 Generalized Lie Superalgebra of Cartan Type

Let $G = \bigoplus_{a \in M} G_a$ be a generalized Lie superalgebra, $D \in \text{End}_a G$, $a \in M$, D is called a derivation of degree a of G if $D(ab) = D(a)b + (-1)^{a(\text{deg } a)} aD(b)$. We denote by $\text{der } G \subset \text{End}_a G$ the space of all derivations of degree a . Set $\text{der } G = \bigoplus_{a \in M} \text{der}_a G$. Then $\text{der } G$ is a subalgebra of the generalized Lie superalgebra $\text{pl}(G)$. The element of $\text{der } G$ is called the derivation of G .

Let $\tilde{\Lambda}(n)$ be a free associative generalized superalgebra with the generators ξ_1, \dots, ξ_n whose M -grading is given by $\text{deg}(\xi_{i_1} \xi_{i_2} \dots \xi_{i_r}) = \bar{r}$. Let I be the ideal of $\tilde{\Lambda}(n)$ generated by all elements $\xi_i \xi_j + \xi_j \xi_i$, then $\tilde{\Lambda}(n)/I \simeq \Lambda(n)$. For convenience, we denote the element $\xi_{i_1} \wedge \xi_{i_2} \wedge \dots \wedge \xi_{i_r}$ of $\Lambda(n)$ by $\xi_{i_1} \xi_{i_2} \dots \xi_{i_r}$ and the operation \wedge of $\Lambda(n)$ by multiplication.

Lemma 1 Let P, Q be homogeneous elements of $\tilde{\Lambda}(n)$. Then $PQ - (-1)^{(\text{deg } P)(\text{deg } Q)} QP \in I$.

Proof Let $(\text{deg } P)(\text{deg } Q) = \bar{k}$.

If \bar{k} is an even number, write $\text{deg } P = \bar{i}, \text{deg } Q = \bar{r}$, then $\bar{i}\bar{r} = \bar{k}$ and $2 \mid \bar{i}\bar{r}$. So there is an

even number in $\{r, t\}$. If r is even, we may suppose $Q = \xi_{i_1}, \dots, \xi_{i_r}, P = \xi_{j_1}, \dots, \xi_{j_t}$. As $\xi_{i_r} \xi_{j_1} + \xi_{j_1} \xi_{i_r} = \langle \xi_{i_r}, \xi_{j_1} \rangle \in I$, we obtain $QP = \xi_{j_1} \dots \xi_{i_r} \xi_{j_1} \dots \xi_{j_t} = - \xi_{j_1} \dots \xi_{i_{r-1}} (\xi_{j_1} \xi_{i_r}) \xi_{j_2} \dots \xi_{j_t} + \sigma'$, where $\sigma' \in I$. Go on as above, we have: $QP = \xi_{j_1} \dots \xi_{i_r} \xi_{i_1} \dots \xi_{j_t} + \sigma = PQ + \sigma$, where $\sigma \in I$. Therefore: $PQ - (-1)^{(\deg P)(\deg Q)} QP = -\sigma \in I$. Similarly, if t is even, then $PQ = QP + \sigma$, and we have:

$$PQ - (-1)^{(\deg P)(\deg Q)} QP = \sigma \in I.$$

It is the same when k is an odd number.

Proposition 1 For any homogeneous elements $P_1, P_2, \dots, P_n \in \Lambda(n)$, there is one and only one derivation $D \in \text{der} \Lambda(n)$ such that $D(\xi_i) = P_i, i = 1, \dots, n$.

Proof (i) Let E be a derivation of degree α of $\tilde{\Lambda}(n)$. By lemma 1, $E(\xi_i \xi_j + \xi_j \xi_i) = (E(\xi_i) \xi_j + (-1)^\alpha \xi_j E(\xi_i)) + (E(\xi_j) \xi_i + (-1)^\alpha \xi_i E(\xi_j)) \in I$, therefore $E(I) \subset I$.

(ii) Let $\Phi: \tilde{\Lambda}(n) \rightarrow \tilde{\Lambda}(n)/I \simeq \Lambda(n)$ be the canonical homomorphism. Then there exist $\tilde{P}_1, \dots, \tilde{P}_n \in \tilde{\Lambda}(n)$, such that $\Phi(\tilde{P}_i) = P_i, i = 1, \dots, n$. We assert that there exists a derivation \tilde{D} of $\tilde{\Lambda}(n)$, such that $\tilde{D}(\xi_i) = \tilde{P}_i$. In fact, we may assume $\tilde{P}_1, \dots, \tilde{P}_{r_1} \in \tilde{\Lambda}(n)_0, \tilde{P}_{r_1+1}, \dots, \tilde{P}_{r_2} \in \tilde{\Lambda}(n)_1, \dots, \tilde{P}_{r_{2^s-1}}, \dots, \tilde{P}_n \in \tilde{\Lambda}(n)_{2^s-1}$. Let \tilde{D}'_j be a linear mapping of $\tilde{\Lambda}(n), j = 0, 1, \dots, 2^s - 1$, such that:

$$\tilde{D}'_j(\xi_i) = \begin{cases} \tilde{P}_i, & \text{if } i \in \{r_j + 1, r_j + 2, \dots, r_{j+1}\}, \\ 0, & \text{if } i \in \{1, \dots, n\} \setminus \{r_j + 1, \dots, r_{j+1}\}, \end{cases}$$

where $\tilde{P}_{r_0} = \tilde{P}_1, \tilde{P}_{r_{2^s}} = \tilde{P}_n$.

As $\tilde{\Lambda}(n)$ is free, $\tilde{D}'_0, \tilde{D}'_1, \dots, \tilde{D}'_{2^s-1}$ can be extended derivations $\tilde{D}_0, \tilde{D}_1, \dots, \tilde{D}_{2^s-1}$ of degrees $0, 1, \dots, 2^s - 2$ of $\tilde{\Lambda}(n)$ respectively. Therefore $\tilde{D} = \sum_{i=0}^{2^s-1} \tilde{D}_i$ is a derivation of $\tilde{\Lambda}(n)$, and $\tilde{D}(\xi_i) = \tilde{P}_i$. It is clear that the derivation of $\tilde{\Lambda}(n)$, which satisfies $\tilde{D}(\xi_i) = \tilde{P}_i, i = 1, \dots, n$ is unique.

(iii) By (i), $\tilde{D} \subset I$, so $\Phi(\tilde{D}(I)) \subset \Phi(I) = 0$, and $I \subset \text{Ker}(\Phi \tilde{D})$. Therefore, there exists a unique derivation $D \in \text{Der} \Lambda(n)$, such that the following diagram is commutative:

$$\begin{array}{ccc} \tilde{\Lambda}(n) & \xrightarrow{\tilde{D}} & \tilde{\Lambda}(n) \\ \Phi \downarrow & & \downarrow \Phi \\ \Lambda(n) & \xrightarrow{D} & \Lambda(n) \end{array}$$

We have $D(\xi_i) = D\Phi(\xi_i) = \Phi\tilde{D}(\xi_i) = \Phi(\tilde{P}_i) = P_i, i = 1, 2, \dots, n$. \square

Corollary 1 For any $P_1, P_2, \dots, P_n \in \Lambda(n)$, there exists a unique derivation $D \in \text{Der} \Lambda(n)$, such that $D(\xi_i) = P_i, i = 1, 2, \dots, n$.

Proof As $\Lambda(n) = \bigoplus_{a \in M} \Lambda(n)_a$, we may assume $P_i = \sum_{j=0}^{2^s-1} P_{ij}, i = 1, 2, \dots, n$, where $P_{ij} \in \Lambda(n)_j$. By proposition 1, for homogeneous elements $P_{1j}, P_{2j}, \dots, P_{nj}, j = 0, 1, \dots, 2^s - 1$, there exists derivations D_j , such that $D_j(\xi_i) = P_{ij}, i = 1, 2, \dots, n$. Let $D = \sum_{j=0}^{2^s-1} D_j$, then

$$D(\xi_i) = \sum_{j=0}^{2^i-1} D_j(\xi_i) = \sum_{j=0}^{2^i-1} P_{ij} = P_i, \quad i = 1, \dots, n.$$

In particular, for $i = 1, 2, \dots, n$, there exist derivations D_i of $\Lambda(n)$, such that $D_i(\xi_i) = \delta_{ij}$, $j = 1, 2, \dots, n$. We denote D_i by $\frac{\partial}{\partial \xi_i}$, $\text{der } \Lambda(n)$ by $W(n)$. Let D be any element of $W(n)$.

Then $D = \sum_{i=1}^n P_i \frac{\partial}{\partial \xi_i}$, where $P_i = D(\xi_i)$, $i = 1, 2, \dots, n$.

Let $0 \leq k \leq n$, $\Lambda(n)_k = \langle a \xi_{i_1} \xi_{i_2} \dots \xi_{i_k} \mid 0 \leq i_1 < \dots < i_k \leq n, a \in F \rangle$. If $k > n$ or $k < 0$, set $\Lambda(n)_k = 0$, then $\Lambda(n) = \bigoplus_{k \in \mathbb{Z}} \Lambda(n)_k$ is a generalized Lie superalgebra with the consistent \mathbb{Z} -grading. The \mathbb{Z} -grading of $\Lambda(n)$ induces a \mathbb{Z} -grading of $W(n)$:

$$W(n) = \bigoplus_{k \in \mathbb{Z}} W(n)_k,$$

where $W(n)_k = \{ \Phi \in W(n) \mid \Phi(\Lambda(n)_j) \subset \Lambda(n)_{j+k}, \text{ for any } j \in \mathbb{Z} \}$.

As $W(n) = \{ \sum_{i=1}^n P_i \frac{\partial}{\partial \xi_i} \mid P_i \in \Lambda(n) \}$, if $k \in \{-1, 0, \dots, n-1\}$, then $W(n)_k = \{ \sum_{i=1}^n P_i \frac{\partial}{\partial \xi_i} \mid \deg P_i = k+1, i = 1, \dots, n \}$; if $k \in \mathbb{Z} \setminus \{-1, 0, 1, \dots, n-1\}$, then $W(n)_k = \{0\}$. Therefore $W(n) = \bigoplus_{k=-1}^{n-1} W(n)_k$.

In particular, $W(n)_0$ is a Lie algebra, $W(n)_{-1} = \sum_{i=1}^n F \frac{\partial}{\partial \xi_i}$, so $\langle \frac{\partial}{\partial \xi_i}, \frac{\partial}{\partial \xi_j} \rangle = 0$, i.e.,

$$\frac{\partial}{\partial \xi_i} \frac{\partial}{\partial \xi_j} + \frac{\partial}{\partial \xi_j} \frac{\partial}{\partial \xi_i} = 0.$$

Theorem 2 (a) *The generalized Lie superalgebra $W(n)$ is transitive.*

(b) *$W(n)$ is irreducible.*

(c) *If $n \geq 2$, then $\langle W(n)_k, W(n)_1 \rangle = W(n)_{k+1}$, for all $k \geq -1$.*

(d) *If $n \geq 2$, then $W(n)$ is simple.*

Proof (a) Let $P \frac{\partial}{\partial \xi_j} \in W(n)_k$, $k \geq 0$, if $\langle P \frac{\partial}{\partial \xi_j}, W(n)_{-1} \rangle = 0$, then $\langle P \frac{\partial}{\partial \xi_j}, \frac{\partial}{\partial \xi_i} \rangle = 0$, $i = 1, 2, \dots, n$, by (1.1) and (2.1), we have:

$$P \frac{\partial}{\partial \xi_j} \frac{\partial}{\partial \xi_i} - (-1)^k P \frac{\partial P}{\partial \xi_i} \frac{\partial}{\partial \xi_j} + P \frac{\partial}{\partial \xi_i} \frac{\partial}{\partial \xi_j} = 0.$$

So $P \frac{\partial P}{\partial \xi_i} \frac{\partial}{\partial \xi_j} = 0$, and $P \frac{\partial P}{\partial \xi_i} = \frac{\partial P}{\partial \xi_i} \frac{\partial}{\partial \xi_j}(\xi_j) = 0$, $i = 1, 2, \dots, n$. Therefore $P \in \Lambda(n)_0$ and $P \frac{\partial}{\partial \xi_j} \in W(n)_{-1} \cap W(n)_k = 0$. The transitivity is proven.

(b) First, we prove $W(n)_0 \simeq \mathfrak{gl}_n(V)$ (as Lie algebra). Let $V = \{v_1, \dots, v_n\}$, $e_{ij}^* \in \mathfrak{gl}_n(V)$ such that $e_{ij}^*(v_k) = \delta_{jk} v_i$. Then e_{ij}^* ($i, j = 1, \dots, n$) is the basis of $\mathfrak{gl}_n(V)$, and $[e_{ij}^*, e_{kl}^*] = \delta_{jk} e_{il}^* - \delta_{il} e_{kj}^*$. Let $\sigma: W(n)_0 \rightarrow \mathfrak{gl}_n(V)$ be a linear mapping, such that $\sigma(\xi_i \frac{\partial}{\partial \xi_j}) = -e_{ji}^*$.

By direct examination we see that σ is an isomorphism of Lie algebra.

Let $\Phi: W(n)_{-1} \rightarrow V$ be a linear mapping, such that $\Phi(\frac{\partial}{\partial \xi_i}) = v_i$, $i = 1, \dots, n$. Then $\Phi(\langle \xi_i \frac{\partial}{\partial \xi_j}, \frac{\partial}{\partial \xi_k} \rangle) = \Phi(-\delta_{ik} \frac{\partial}{\partial \xi_j}) = -\delta_{ik} v_j = -e_{ji}^*(v_k) = \sigma(\xi_i \frac{\partial}{\partial \xi_j})(\Phi(\frac{\partial}{\partial \xi_k}))$. So $W(n)_0$ -module $W(n)_{-1}$

(about adjoint representation) is isomorphic to $\mathfrak{gl}(V)$ -module V (about canonical representation). Then we get that $W(n)_0$ -module $W(n)_{-1}$ is irreducible, and $W(n)$ is irreducible.

(c) By induction on k .

(d) By (a), (b), (c) and Theorem 1. \square

Imitating 3 of [1], let $\omega = \theta\xi_1 \wedge \theta\xi_2 \wedge \cdots \wedge \theta\xi_n$ be volume form. Then $S(n) = \{D \in W(n) | D\omega = 0\}$ is a subalgebra of $W(n)$, and

$$S(n) = \left\langle \frac{\partial f}{\partial \xi_i} \frac{\partial}{\partial \xi_j} + \frac{\partial f}{\partial \xi_j} \frac{\partial}{\partial \xi_i} \mid f \in \Lambda(n), i, j = 1, \dots, n \right\rangle.$$

Let $\omega_1 = \sum_{i=1}^n (d\xi_i)^2$ be Homilsonian form. Then $\tilde{H}(n) = \{D \in W(n) | D\omega_1 = 0\}$ is subalgebra of $W(n)$. Let $H(n) = \langle \tilde{H}(n), \tilde{H}(n) \rangle$. Then $H(n) = \left\langle \sum_{i=1}^n \frac{\partial f}{\partial \xi_i} \frac{\partial}{\partial \xi_j} \mid f \in \bigoplus_{j=0}^{n-1} \Lambda(n)_j, i = 1, \dots, n \right\rangle$ and $S(n) = \bigoplus_{k=-2}^{n-2} S(n)_k, H(n) = \bigoplus_{k=-1}^{n-3} H(n)_k$ are \mathbb{Z} -graded generalized Lie superalgebra. Imitating Theorem 2, we obtain the following theroem: **Theorem 3** Let $n > 3$. Then

(a) Both $S(n)$ and $H(n)$ are transitive.

(b) $S(n)_0$ -module $S(n)_{-1}$ is isomorphic to $\mathfrak{sl}(V)$ -module V ; $H(n)_0$ -module $H(n)_{-1}$ is isomorphic to $\mathfrak{so}(V)$ -module V ; therefore both $S(n)$ and $H(n)$ are irreducible.

(c) $\langle S(n)_k, S(n)_1 \rangle = S(n)_{k+1}, \langle H(n)_k, H(n)_1 \rangle = H(n)_{k+1}$, for all $k \geq -1$.

(d) $S(n)$ and $H(n)$ are simple.

$W(n), S(n)$ and $H(n)$ are called Cartan generalized Lie superalgebras.

Reference

- [1] V. G. Kac, *Lie Superalgebras*, Adv. in Math., 26, 97(1977).
- [2] M. Scheunert, *Theory of Lie Superalgebras*, Lecture Notes in Math. 716, Springer-Verlag Berlin Heidelberg New York, 1979.
- [3] N. Jacobson, *Basic Algebra I*, W. H. Freeman and Company, 1980.
- [4] H. Strade and R. Fansteriner, *Modular Lie Algebra and Their Representation*, Purl and Applied Math., Vol. 116, Marcel Dekker, New York, 1988.
- [5] J. E. Humphreys, *Introduction to Lie Algebras and Representation Theory*, Springer-Verlag, New York, 1972.

Cartan 型 广 义 李 超 代 数

王 原 东

(山东信息工程学校, 潍坊261041)

张 永 正

(东北师范大学数学系, 长春130024)

摘 要

设 F 是特征不为2的域. 本文定义了 F 上的广义李超代数, 证明了 \mathbb{Z} -阶化广义李超代数的单性准则. 然后定义了有限维 Cartan 型广义李超代数 $W(n)$, 证明了 $W(n)$ 的单性. 最后指出对 Cartan 型广义李超代数 $S(n)$ 与 $H(n)$, 亦有与 $W(n)$ 相似的结果.